Results of Research Activities
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Application of a Heat
Pump to Seaweed
Drying

A contribution to the improvement
of dried seaweed
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Production of dried seaweed has been increasing remarkably due to the technical
development in cultivation and processing. However, the conventional drying process
by using boilers can impair the characteristic flavor of seaweed because of relatively
high drying temperatures (35 to 45°C). We tried low temperature drying around 30°C
using a heat pump. A test on the low-temperature dehumidifying drier utilizing a heat
pump proved effective in improving seaweed quality and showed that drying was best
done at approximately 30°C with air flow at 2.5m/sec.
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